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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3-4 0
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P3-4
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07:10 273 150.0 2.583 |(Z x| FhHAQO7:10 kENFEF CRAfEEE:E)
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16:55 273 150.0 2.583 |Z=| FnHRe16:55 KREIEF (GREMEHSE)
H2it]3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0
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P3-4

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R
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25 A
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19.

19.
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19.

19.
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m=525, FV0=0
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M_E
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52.
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52.

m=495, FV0=0

0

—— MW
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m=635,n FV0=0

5_

0 -
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6&0 6&5
m=765,n FV0=0
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0 -

—o— MW

7%0 755
m=900,n FV0=0
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0_
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900 905 910




m=940, FV0=0
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54.0

53.5 A

53.0

52.5 A

52.0
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T
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m=990, FV0=0
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T
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T
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P3-4

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

07:10 283 150.0 2.583 El Bi&e07:10 Bz (GRAAEREEE)
07:50 283 150. 0 2.583 E| {Rig@07:50 Bzh (RE{ERSE)
08:30 283 150.0 2. 583 | 1Ri%e08:30 B (KAERSE)
09:10 283 150.0 2.583 = {Rig@09:10 B3 (RAERSE)
10:10 283 150.0 2.583 =l RRiB010:10 Bzh (REAEEE)
11:00 283 150.0 2.583 5 {Ri%e11:00 B3 (RAERSE)
11:45 283 150.0 2.583 =l {Rige11:45 B3 (RAERSE)
12:35 283 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:20 283 150. 0 2.583 E| {Rig013:20 B3h (RE{ERSE)
14:00 283 150.0 2.583 E BRige14:00 Bz CGRAERESE)
14:35 283 150.0 2.583 S| {Rige14:35 B (REAERSE)
15:20 283 150. 0 2.583 E BRige15:20 Bz (GRAERESE)
16:05 283 150.0 2.583 5| {Ri%e16:05 Bz (FRAMERSE)
17:05 283 150.0 2.583 =l {Rig@17:05 B3 (GRAERSE)
H2it]3962.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 6.0

#H[EKECE (1887.0 vs 4540.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=73 (2025-06-10)

150 A

100 A

50

200 {

150 -

100 A

50 -

1969

104

60
Warning: lcol [FVI',| "FVO’'] missing

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2912 L 3000

- 2000
1700 545

20 L 1000

0.0

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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cumET (ml/plant)
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20.0
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19.0 A
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T
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H\}
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18. 3 A
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20. 40 ~
20. 35 A
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T
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54.
53.
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52.

54.
93.
53.
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P3-4

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

08:20 278 150.0 2.583 |Z=| {Ri&%e08:20 Bz (KREEZERHSE)
09:25 278 150.0 2.583 |Z=| {Ri%e09:25 B (KREEZEHSE)
10:15 278 150.0 2.583 |Z=| {Ri&e10:15 Bz (REEZEBE)
11:05 278 150.0 2.583 (£=| 1Ri%e11:05 Bz (REAEDSE)
12:00 278 150.0 2.583 (£=| {Rige12:00 B3 (RAERSE)
13:05 278 150. 0 2.583 |/hfu| {Ri%e13:05 B (REEBE)
13:50 278 150.0 2.583 [/hfE| {Ri&e13:50 Bz (REEBE)
14:30 278 150.0 2.583 FA| 1BRi%@14:30 B3h (KRAHERSE)
15:10 278 150. 0 2.583 | =| {Ri&e15:10 Bz (REEZBE)
16:15 278 150. 0 2.583 |Z=| BRige16:15 Bz (GRAEREE)
21t 2780.0 (10)%) 1500. 0 3203 %EC: 2080.0, PH: 6.0

##[EKECE (1897.0 vs 5000.0) H 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=72 (2025-06-09)

1 e g g e B B

100 A
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200 3

zgold V&P4RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
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Warning: lcol [FVI',| "FVO’'] missing
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L I E— N N i | I T 1——rTr
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Warning: lcol ["WC1',  "WC2'] missing

T 1
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optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPHO0=6. 5, setPHB=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-4

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:05 278 150.0 2. 583 | 1Ri%e07:05 B (KEAERSE)
07:45 278 150.0 2.583 E| {RRi%e07:45 Bz (REAERSR)
08:25 278 150. 0 2.583 E| {Rig@08:25 Bah (RE{ERSE)
09:15 278 150.0 2.583 =l {Ri%e09:15 Bz (REAERSE)
10:00 278 150.0 2.583 =l RRi80@10:00 Bz (RFAKEE)
10:40 278 150.0 2.583 =l RRiB010:40 Bz (REAEEE)
11:15 278 150.0 2.583 =l Rige11:15 Bz (GREAEESE)
11:55 278 150.0 2.583 =l {Rige11:55 B3 (RAERSE)
12:35 278 150.0 2.583 S| {Rige12:35 B (REAERSE)
13:20 278 150. 0 2.583 E| {Rig013:20 B3h (RE{ERSE)
14:00 278 150.0 2.583 E BRige14:00 Bz CGRAERESE)
14:30 278 150.0 2.583 S| {Rig014:30 B3 (RAERSE)
15:05 278 150. 0 2.583 E BRige15:05 Bz (GRAERERE)
15:40 278 150.0 2.583 F BRige15:40 Bz CGRAERESE)
16:20 278 150.0 2.583 =l 1Rig016:20 B3 (RAERSE)
17:15 278 150. 0 2.583 E BRige17:15 Bz CGRAERESE)
21t 4448.0 (16)%) 2400. 0 3203 %EC: 2080.0, PH: 6.0

#HEKRECE (1927.0 vs 5033.0) i d5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=71 (2025-06-08)

1580 e T/ ———
Yl VSRV, ET = VI, V0, FVI, FVO, FRV, ad jFRV, ET 3043 | 00
2700 2600 [2601
100 -
768 862- 2000
50 A 20 740 - 1000
Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 4 W VI — ne p0
FRV maxM
L e S B T 1T ' T rrrfrT Ty Yy T T Tt I | 5
(NN
100 - HEIEEEEEEEEEREEER -
AR
[N
1.0
U
0.8
0.6
0.4
0.2
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